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M s 1) Question No. 1 15 compulsory.

Sl LT -

(2) Attempt any three questions of the remaining questions.
(3)  Assume suitable data where ever necessary.

1 Attempt the fo!lowing questions 20
(2) Dewermine whether the signal is periodic, calculate its fundamental period
xlt) = Scoszt 5L o e )
6
(6) Determine the energy and power of a unit step signal.
(¢) Classify the following system in terms of linearity, time invarighce, causality,
stability. |
y(t) = e*t x(t)
(d) Check the orthoginality of the signal over interval [0;'1]
X, (1) = J2( - 2t), x,(t) =2
2. (a) Find the ccnvolution sum of by graphical methicd 12
x[n]={1,2,-1,1}
hin}={2,4,2,1, 3, 5}
(b) Find the initial and final value of 8
10(S+1) ' |
Als)= (S +2) (S +6)
‘3. (a) Find the Z- transform of g(ri) =(—1)" 27" u(n) and sketch the ROC. 10
(b) Find the laplace transfqnﬁ of x(t) = te* u(t) * 2sin 7t u(t) 10
4. (a) Given the sighal = x(f) =3+t ~3 < t<—}| 10
" = {) -1<t<( |
= -|+t 0<t<]

Sketch thefollowing ;

(i} x(t}: (ii) X( o [)1 (111) o X(t):_ (IV) K('."' -+ 2), (V) X(t — 2)
(b) Fipg--fhe even and odd part of the signal of Q4(a). | 10
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> (@) Determine the inverse Z transform of
. 3% 2T V4777
\.{Z) - - _9
L=30 " 2L F
By Partial fraction Expansion method.
(b) Find the laplace transform of t| e signal and their ROC.
X!t)
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6. (a) Determine the fourier series representation of

| s
(1) x{nj =4 cos (_2“"‘]

\

(i) x[n]={1, 2, - 1,%,2,-— ,1,2,-1}

A Psen. - o o e one : ,.
(L) Determine the trigonometric fourior series of
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